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INSTRUCTIONS oy

1. Paper 1 has two parts: Partl & Part Il
sﬂmuaa}a’rﬂm%:m1aﬁ={ﬂmz
(a) Part | : Reasoning (50 marks)
qrr 1 : @@ (50 marks)
(b) Partll: Elementary Mathematics (50 marks)
AT 2 : He IO
rt carries 50 objective type of questions.

2. Each pa
mmﬁmﬁﬁmﬁsowﬁqwé |
There will be four possible answers to every question. Candidates are
k ball pen.

3. :
required to fill correct answer in the OMR sheet with Blac
q@F Ut ® 9 fawed Ry MW ¥ lamvﬁmmwﬂé’rwaﬁmmsﬁe
(OMRsheet)ﬁ:ﬁﬁ/mﬁmﬁﬁﬁﬂ% |
k will be granted and 0.33 mark will be

For each correct answer, 1 mar

4.
deducted for every wrong answer.
Te 98 S @ fag 1 aig faar wme &R 0.33 3i® PIeT S |
O. If a candidate gives more than one answer, it will be treated as a wrong
answer and 0.33 marks will be deducted. There will be no penalty for
questions left unanswered. :
3 o <ar & o 98 Terd HIAT SIE S} 0.33 si® @rer

afe apeff g TS T SR TP

ST | |
6. Candidates should not mark in the question pape
pages provided in the question paper for rough work.

seelf wsT U 3 e X @ IS T T A lwm$mww$wwm

r. They can use blank

g @7 SHNT N |
7. Paper 1 has Part | & Part Il. To be eligible to qualify, candidate must
obtain minimum 40% marks each in Part 1 &I separately and a minimum of
50% aggregate in total.
o U @ & Wi & 1 A 1 3R AT 2 | Seirof 21 @ fore arereff @t QT AT AT | AR AT
0%@?@%W50%Waﬁnﬁ% |

Il 3 arerT AT B ¥ F4 4
uestion paper contains 20 number of pages.
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Part | : Reasoning (50 Marks)
9T 1 : % (50 ATFY)

Dir i i

oy r:;;llts)l:; ml,rrln tehrljl Sfy;:;e"you are provided- with substitutes for various mathematical

SRl GoSTE e Corre,ctc/) .owed by a qugstlon involving calculation of an expression

oF PumEralain fan mcorrect equation. You are required to put in the real signs
€ given equation and then solve the question.

;@fﬁim#mmmm'mﬁﬁarm« e s &,
i WA QAT Srar & FBrwat swiere Ay o a1 W / Tod GHIEIOT HT

A M%mmwmﬁmﬁ?%mﬁmﬁ
sTarst 3R R FHEamsit #) g we Y smaegwar &

If
Q means to +, J means to x, T means - ,Kmeans +,then30K2Q3J6T

Q1.
5=7

gfd Q AqaT +
2 J AGEE x, T AGWT -, K Adera +, T 30K2Q3J6T5= 2

@ 18  (b) 31 (c/)zs (d) 103

Q2. If P denotes +, Q denotes x, R denotes + and S denotes -, then what is the

value of 18 Q 12P 4 R5 S 62
afg P AGAT +, Q AGAT x, R #AqdA« +, S #Adaa -, BT 18Q12P4R5S 67

(a) 59 @ 53 (¢c) 63 (d) 65

Q3. If A stands for + B stands for - C stands for x, then what is the value of (10 C
4)A (4C4)B 67
afx A AGEd +, B HAAT -, C Aded x, T (10 C 4) A (4 C4)B 6 F1 Heor F

T
(@ 50 (b) 60 (c) 96 (d) 46

In each of the following questions, clues are given regarding
time, numbers etc. You

Directions
comparisons among set of persons, things, direction, age, . .
the whole information and answer the given question

are required to analyse
accordingly.
order - ST yas e A SafFadl § e T
T e aw § S dr fae, 3, m.mm%.mwmm
mawmﬁaﬁrmargmmmma’fawm

at the area is halved a

Q4. If a 1 mm thick paper is folded so th
what would be the thickness of the pile after 50 folds?

t every fold, then

B




IR TF 1 mm A FEGT F 5H TFR A AT A TAF qE F A0 AT §

ST @ 3T ¥ dEt :Y Aerd 50 A F @ F74r g9l ?

(@) 100 km (b) 1000 km (c) 1 millionkm (d)— 1 billion km

A was born 2 years after his father's marriage, his mother is 5 years younger

Q5.
ho is 10 years old. At what age did the

than his father, but 20 years older than A, w
father get married?

Ammmﬁma;ﬁawa?zmmgm,mﬁmﬁmﬁsm
m%mAﬁzomaﬁgﬁﬁmMmmtﬂm#fmamm
’*g‘#’?

(@) 35years (b) 25years ((% 23 years (d) 33 years

Q6. A father tells his son “l was of your present age when you were born”. If the
father is 36 now, how old was the boy 5 years back?

wﬁmmﬁﬂt#ﬁm%#ﬁwmmmmm@ﬁaga.
mnﬁﬁmmaeﬁﬁ%ﬁﬁﬁmsmmwm?
(a) 15years (%13 years (c) 17 years (d) 20 years

Q7. A father is now 3 times old as his son. 5 years back, he was 4 times old as his
son. The age of the son (in years) is?

wﬁmwgaﬁmg#sﬁagmagr%.qiﬂm%ﬁa?mﬁﬁ#wgm

FET UL HT A A FHFATE ?

15 years (b) 12 years (c) 18years " (d) 20 years

X

/Q8. A woman says, ‘if you reverseé my O
husband’s age. He is, of course, senior to me an

1/11" of their son”. The women’s age is?
v AR wedt & € 39 T A 3H F e & ar Jws A ofF ;3T ;W
mm%.wmm#wm%mmmﬁmmm

gmtata?rswaﬂwﬂaﬁw%.mata?rmm%?
(d) 50 years

wn age the figures represents my
d the difference between our ages is

(a) 23 years (b) 34 years (c) 45years



ead English, while 3 of them read

rench, 8 1
and English both?

d French
o § wafE 3R & 3 & A

2yt aga ¥ 7

Q9. In a group of 15 people, 7 read F
none of these two. How many of them rea

15t & wHg # 7 % wad € 8 I
78t Ted & g @ et wer e AT S
@@ O (b) 3 (c) 4 (d)5

/Q10.. M went to movies 9 days ago. She goes to the movies only on Thursdays.
What day of the week is today?

Mmﬁam@mwmmmwﬁﬁ@a‘@?ﬁ&mm
FHT AT RTE?

(a) Thursday I[%a

(c)  Sunday I@Er (d) Tuesday HIA AR

(b) * Saturday euferar

th
Q11. If 30" January 2003 was Thursday what was the day on 2" Mar 20037?
3R 30 FwEd 2003 1 Rt IR oT, A 2 A 2003 Fe AT T ¥ ?

(a)  Sunday I@ER (b)  Tuesday HIAAR

(c)  Thursday I%aR | (d)  Saturday erfaarR

erectlons In each of the folloyving questions, a matrix of certain characters is
given. These characters follow a certain trend, row-wise or column wise. Find out

this trend and choose the missing character accordingly.
Bk : frfaf@ad # ¥ 990F NT # Fo Ul & AgFw & [ARwa wgfa &
FAEET FaT § ot 4T & IER A TR F IR § wqfa F gar e

3R 3uF HAFAR @I FaL FT I

an
, 4 5 6
2 3 7
1 8 3
21 98 ?

98 |7 |

(@ 94 () 76 (c) 73 (d) 16



13. -
963 2 844

464 L’? 903

(@ 1 (b) 2 () 3 (dy 4

Q14.

Q15.
v 42 44 - |38

23 |55 28

(@ 22 (b) 33 © 66 (d) 677

Directions Each of these questions given below contains three elements. These
elements may or may not have some inter-linkage. Each group of elements may fit
into one of these diagrams at (a), (b), (c) or (d). You have to indicate the group of
elements which correctly fits into the diagrams.

e : ﬁammmmﬂﬁsﬂﬂaﬁrtsﬂaﬁﬁajﬂm—mﬂ

aﬂm%aﬁtaﬁaﬁ.aﬁmmwsﬂmﬂu’fﬁﬂwﬁmﬁm
%.Mmaﬁ#wﬁgﬁam%mm#wm@mmg_



Q16. Which of the following diagrams indicates the best relation between Doctors
Human Beings and Married People?

frefaf@a & @ w7 @ 3@ s, Aqed AR Raa @e F d@w
HEH =D WFawY F gotar §

” ©9 " ©O
““op |'®

Q17. Which of the following diagrams indicates the best relation between Man,
Worker and Garden?

%wa%ﬂ%ﬁﬂ..ﬂﬂ&%ﬂiﬂﬁﬁd
wﬂaﬂuﬂﬁﬂﬂﬂdiw

@) Q | () QOO

A.e @ O ©_ QﬂMuu

Q18. Which of the following diagrams indicates the best relation between Males,
Cousins and Nephews?

rfaf@a # @ S 91 3INE ), 99 4 iR adfier & @i
aE IS FEY S gl §

@D [ B
(c) d
© ©0

figure from amongst the
(X) would complete

Directions In each of the following questions, select a .
four alternatives, which when placed in the blank space of figure
the pattern.

\



G PR T wed A, 9x RAeedt H ¥ vH AT 1 9w F
R g (X) & R wumr o T o Yok 8 e _

Q19.

N .
B OB

X) (a) () () (d ~

g certain characters is given. Assuming
d the missing character.

.&%s@@iﬁﬂﬂwﬂﬂqﬂ.
ﬁ»w.@ﬂm&ﬁﬂ_ﬂﬁq

a set of figures carryin

Q20. In the following,
a similar pattern, fin

that the characters follow
el § @ w=ZdF & qrat #Y 4T HE
7§ A=A gO, A qF TF FAA dest T FFEOT

AV

@ 28 (p) 30 (©)

series of numbers areé given following a certain pattern-

g. Find the wrong term.

adﬂ%m&sﬂﬂ%a&w

Directions In the following,
e number series is wron

One term in th
@L"%m_aﬂ@mﬂﬂi*%
ﬁdﬂndﬂ&aﬂﬂamﬂw.sﬂﬂﬁdﬁﬂﬂ

Q21. 196, 169, 144,121, 80

(ay 80 (b)

1,3,7,15, 27, 63, 127

121 (c) 169 (d) 196

Q22.
@ 7 (b) 15 ?mﬂ (d) 63
Directions Choose the odd numeral pair / group which is different from the others.

m«ﬂﬂmﬂmﬂ\ﬂwmﬂﬂzﬂﬁwﬂmﬂ

mﬁm”
Q23. (a) 95-82 (b) 69-56 c) 55-42 =
(©) () 48 34

Q24. (@) 11-115 () 10-90 c) 9-72 d) 8-56



ect the related word from the

i i sel
Directions In each of the following questions,
given alternatives:-

Bngﬂﬂﬂﬂwﬂq&qwﬂmﬂﬂﬂ e
HY

Q26. Giant: Dwarf e Genius : ?
(@) Wicked (b)  Gentle (c)s Idiot (d)  Tiny

Q27. Forecast : Future :: Regret : ?

(a) Present (h) -~ Past (c) Atone (d) Sins
Q28. Planet : Orbit i Projectile : ?

(a) Track  (b)  Milky Way m%ﬁm_.moﬂoa\ (d) Path
Q29. Pesticide : Crop 11 Antiseptic: ?

(a) Clotting (b) Bandage m% Wound (d) Bleeding

\@a\o. Symphony : Composer ::Fresco: ?
(a) Painter  (b) Inventor (c) Singer (d) Writer

Directions In each of the following questions, there is a certain relationship
between two given numbers on one side of : : and one number is given on another
side of the same : : while another number is to be found from the given alternatives:-

P&y . e v s wa # w A @ i @ et $ odw o

wggwnﬁgﬁﬁ&ﬂﬂﬂﬁﬂ_&iw“mﬁgﬁ
Wﬂﬂﬂ\ﬂm&ﬁgﬂmﬁ%w

Q31. 42:20 X 64.:7
(a)31 (b) 32 (c) 33 (d 34
F A w
Q32. 49: 81 = 100: ?
(@) 64 (®) ~ 144 (c) 169 (d) None of the above
<) .
Q33. 0.16:0.0016 1:1.02: 2

@o.o;om (b) 0.102 (c) 1.020 (d) 10.20



Q34. 1:1 :: 25:2

(a) 26 (b~ 625 (c) 125 (d) 240

Directions In each of the following questions four words have been given out, out

of which three are alike in some manner and the fourth one is different. Choose out
the odd one. ’

A& : AR Yd® Wed A 9 aee e v ¥, e & fe e aw @
FanT § 3k atur s }. Rwe & glav

—Q35. (a) Rhea (b) Trout (c) Lamprey (d) Salmon

Q36. (@) Commander (b) Commodore @ Brigadier (d)  Admiral

_Q37. (a) Microscope (b) Telescope (c) Periscope  (d) Stethoscope

Q38. (a) Thyroxin @v\ Adrenalin (c) lodine ~(d)  Insulin

Directions In these questions the letters in a word are replaced by certain other
letters according to a specific rule to form its code. You are required to detect the
coding pattern / rule and answer the questions accordingly.

forer : wﬂﬁﬂ&ﬂ»ﬂﬂ&&iﬂ@@&@dﬂﬂﬁmﬂnmﬂwﬂwﬁ&
@mﬂﬂmﬂuﬂ.ﬂﬂwmﬂﬂmﬂw.%ﬂﬂ%i\mﬂﬂﬁnﬂgw
AR 3uF AR geal F 5O & E

Q39. In a certain language, OPERATION is written as NODQBUJPO. How is
INVISIBLE written in the code?

v frRaa T &, OPERATION ® NODQBUJPO ¥ FT N fRar & ar
INVISIBLE ® %@ for@r sirar €
(@) JOWJTJCMF (b) JOWJTHAKD (c) HMUHTJCMF  (d) HMUHTHAKD

-~ 414342

\Dbo. In a certain code language, PLEADING is written as FMHCQMFB. How is
S

|

i3

HOULDER written in the code?
v ffead smar #, PLEADING # FMHCQMFB & &7 # fawr oA A
SHOULDER @ ¥ for@m mar @

(@) KCDQTIPV (b) QDCKTIPV (c) QDCKVPIT (d) TIPVvQDCK

‘ 3 wj::%GEG :ﬁa%im@\zwwﬁiﬁwa
wmwm mmﬁ LT kL 3._< of GRS TUV WXRYZ

_ﬁ )



Q41. In a certain code language, GAMBLE is written as FBLCKF. How is FLOWER
written in the code?

F ARYT s #, GAMBLE %' FBLCKF % w9 & far@r ¥. @ R FLOWER #t
Fa T aar @

(@  HNQYGT »A\S\m_,\__,\_xom | (c) GKPVFQ (d) GMPVDS
Directions In these type of questions generally a set, group or series of numerals

is given and you are required to trace out the numerals following certain given
conditions.

S&ar - FH UPR F weaAl #H 37 AR W 3wl 1 o Ye, Wy A1 swer & amch
w%wﬂﬂmﬂﬂgaiﬂﬂﬂﬂﬁﬂmaiﬁaﬂgw

Q42. Sam ranked 9" from top and 38" from the bottom in the class. How many
students are there in the class?

mmaﬂﬁ#wﬂ@@»%g@wmwﬂﬁmﬂ#ﬂﬁ%wﬂ»ﬂﬂ?
(@) 45 by 46 (c) 47 (@) 48

Q43. Manoj and Sachin are ranked 7" and 11" respectively from top in a class of
31 students. What will be their respective ranks from the bottom in the class?

Manoj 3iX Sachin 31 @Y $Y vF Faw F 3 § FAw: 73 3 113 T 93X .
FaT H AT F 37 grafa Yo 747 anft 2

(@) 20"Mand 24™ (b) 24" and 20™ @Ews and 21 (d) 26" and 22"

Q44. In a row of boys, A is 15" from the left and B is 4" from the right. There are
three boys between A and B. C is just left of A. What is C’s position from the right?

dSH Y TH 9fFa A, A 90 F 1538 T W 7. A 3R B F Ay i a=F E
C, A% aI¢ &, & & C & TIH F4T 82
,Q ot (b) 10" (c) 12" (d) 13"

Q45. Richard is 15" from the front in a column of boys, there were ”:qmm %Mq%gwnw
behind him as there were in front. How many boys are there between Ric
the 7" boy from the end of the column?

_ i o
TSH & TH FIad A Richard ﬂE@G»ﬁ:ﬂﬂW.wa»ﬂﬂ»&qu@
wﬂﬂw#iﬂﬂwﬁ@m_gma%iﬁﬂﬂgﬂwﬂﬂﬂ

(@) 33 (b) 34 (c) 35 (d) None of these




L0 R

&

Q46. N rank 5" in the class, S is 8" from the last. If T is 6™ after N and just in the
middle of N and S, then how many students are there in the class? )

N FaT & 594 TR 9T &, S QA @ 89 vl W &, IR T, N &F 91 64 T W
? 3R N3l S& & wew A ¥ o Fawm F Freer Red § 2
(@ 23 (b) 24 (c) 25 (d) 26

Q47. Inarow of 21 girls when Monica was shifted by four places towards the right,

she became 12" from the left end. What was her earlier position from the right end of
the row?

21 wsfFal f ww 9fFa F S Monica 1 IR T & ¥ AR TR Rpar
I Y, @t aF 9 o ¥ 12f @ S ¥, 9FE ¥ o oR ¥ 3Eh qwh f
ufy 1 ot 2

(@ 8" (b) 10" (c) 12" @\Ks

Directions In these type of questions some particular objects are assigned code

names, then a question is asked that is to be answered in the code language.
g : 3w yHR & WAl #, 7o RAY argdl B w3 aw R o ¥, R o
9o g5t I ¥, e @@ 3er feafai@a Fi s & g

Q48. |If sand is called air, air is called plateau, plateau is called well, well is called
island, island is called: sky, then from where will a women draw water?

&wﬁqﬁmﬂ%ﬂﬂﬂ.wﬂ.ﬂgmﬂﬂﬁgﬂmﬁﬂnﬂﬁmﬁﬂ
gdi FeT I, giT F IHER FgT A, A AT T Fg § AC?

,@ island gdfIT (b)  well F3HF Gf sky 3MIr (d)  air gar

Q49. If cloud is called white, white is called rain, rain is called green, green is called
air, air is called blue and blue is called water, where will the birds fly?

IfE 9Icd FY The Fel A, The F TINY FgT FA, TIRA T T FT I, &
FY gaT FgT I, gaT & AT Fel 9, AX P A Far I, A Grl FFF 3ZA?

(@) airgar A_g blue T (c) cloud EIEA (d)  white THE

Q50. If water is called food, food is called tree, tree is called sky, sky is called wall,
on which of the following grows a fruit?

IR I W AW FE AR, MAT W A FET T, JE B IE FE A,
ITHRT H QAR Fel I, @ o F ¥ F | v o §2

(a) water el (b)  food #eret Amv\ sky 3TRTRI  (d)  tree Ja



Mathematics (Marks 50)
HTOT 2 : a0t (50 ATEFH)

XOW_ A can finish a work in 15 days, B in 20 days and C in 25 days. All these three
worked together and earned Rs 4700. The share of C is?

ATw FF F: 15 gt & B 20 Ral # 3ilv C 25 @t ¥ wATCT FT wHar ¥ 3
A F AT FT F7 fFar 3T Rs 4700 HATC .C & 518 7741 Ream §7

(@ Rs1200 (b) Rs1500 (c) Rs1800  (d) Rs 2000

Q52. If 5 tractors can plough 5 hectares of land in 5 days, then what is the number
of tractors required to plough 100 hectares in 50 days?

AT 5 T 5 FRW A F 5 AT F s v § ar 50 Rt # 100 IR
I F AT fFad TFew ;A Jwa 72
(@ 100 () 20 (- 10 (d 5

\Omm. What is the simplified form of 9v2 - V8 - 4427
V2 - V8 - 4V2 FT TIelFd T 4T 2

(@) 42 (b) 32 (c) 2\2 (d 2

Q54. The shadow of a no.m 6 mtr high is 15 mtr long and at the same time the
shadow of a tree is 25 mtr long. What is the height of the tree?

oF T@FEET & ST 6 e A 3t 15 e aFh § R 3 wHw v 93 ]
ST 25 Hiex aFdt § @ 93 f Fwd frash gelt 2
(a) 21 mtr ,@\ 10 mtr (c) 35mtr (d) 40 mtr

Q55. If one-third of a two-digit number exceeds its one-fourth by 8, then what is the
sum of the digits of the number?

I @ F B vF FEd F E-UF Qs sud-aturs ¥ 8 3 ¥, ar w &

AT FYT EAIM?
(@ 6 (b) 13 @\ 15 (dy 17

Q56. A number consists of two digits whose sum is 8. If 18 is added to the number,
the digits are reversed. The number is equal to?

ﬁﬂﬂﬂwﬂiﬁﬁsmw.ﬁﬁgmaﬂwaﬁﬂaamﬂuﬁﬂ
(a) 26 ﬁ&\wm () 53 (d) 62




257.

; sin 31° + sin 32° 7

w%@d&ﬂﬂﬂﬁﬂﬁmiw

Q58.

Q60.

Q61.

Which of the following statements is true in respect of the expression

Afm,:mmo%wmqﬂﬂﬂmmﬂ&ﬁﬂww

(a) Its value is O

gadT AT 0¥

(b)  Itsvalue is 1

g AT 1 ¥

(c) Its value is less than 1
FuET AT 1 W BH ?
(d) Itsvalue is greater than 1

st A 1@ AT §

If 1 + tan © = V2, then what is the value of cot 8 — 17

afy 1+tan 0 =12 w.mqooﬁoléﬁﬂﬂmﬂww

@ 1 @ 2 © 2 @ 1
&~ .

V2
iftan®=3 andBis acute, then what is the value of sin 6
4
Ifg tan 6 = M%mﬁﬂﬂﬂwwﬂm_:mﬁ#ﬂmﬂﬂﬂn
4
(@ -3 by 3 (c) 4 (dy -4
5 5 5 S

What is sin 25° sin 35° sec 65° sec 55° equal to

sin 25° sin 35° sec 65° sec 55° fFa¥ aUET 87

(@ -1 (b) O (c). (d 1

N|—

Which one of the following triples does not represent the sides of a triangle?

e # @ F & R v B A st F1 faffe @ e ¥

\Omm.
observer standing at a

(@) (3.4.5) (b)  (4,7.,10) () (3.6.38) (d) (238)
n of unit radius subtends an angle of 90° at the eye of an

A round balloo
point, say A. What is the distance of the centre of the balloon

from point A?

wﬂﬁﬂgﬂaﬂaﬂwﬂaﬂw>ﬂ@wﬁaﬁmﬂ%§eﬂﬂw%ﬁﬂﬂ
saRa Fear &, fig AW ek Sy Fw A gl T R?

(@ 12 (b) V2 (c) 2 (d 1/2



>

.

>

e

=Y

- Tfy g =30°% A tan a T AT FAT N7

le is V3
hadow of a po
Q63. What is the angle of elevation of the sum when the s

times the length of the pole? & T V3 AT 7
ﬁ#ﬂ-uﬂdﬂﬁsﬂﬁwﬂﬂaﬂﬂ;uﬂ - )

45° AOV 60° AQV 75°

(@), 30° (b)
N

Q64. If B = 30°, then what is the value of tan o ?

(c) 1/4 (d) 175

@@ 172 (b)y 173

i om the to
_Q65. From the top of a building 90 mtr high, Em angle oﬁ.awnmmww._oyﬂﬁ m ! #mm%
and wso bottom of a tree are 30° and 45° respectively. What is d

TF 90 MieX 3 sARA ¥ fif ¥ v 97 & FW IR & A HaTHqT HIOT FHA:
30° 3R 45°¢. 93 T FaE frae 87

(@  30V3mtr (b) 90 —30+3 mtr

(c) 90+ 30 V3 mtr (d) 60+ 303 mtr

Q66. What is the area of a right angled isosceles triangle whose hypotenuse is 62

cm?
UF HAFIT FHAATE e F1 Ao ¥4 § FwET HF 62 e ¥2
(@ 12 cm? A,g« 18 cm? () 24cm? (d) 36cm?

Q67. The diameter of a circle circumscribing a square is 15v2 cm, then what is the

length of the side of the square?
aﬂm&*aﬂﬁﬂ.&ﬂﬁmﬂﬂa%gw.m&mﬂaﬂmﬂqmﬂﬁwmﬂ?

(a) 15 cm (b) 12 cm (c) 10 cm (d) 7.5 cm

Q68. How many 200 mm lengths can be cut from a 10 mtr of ribbon?

Sg:ﬁ?ﬂ&@ﬂwﬂﬂmoogﬂwﬂnuﬂﬂaﬂﬂﬂ%
@ 50 (b) 40 (¢) 30 (d) 20




Q69. The ratio of the outer and inner perimeters of a circular path is 23 : 22, If the
path is 5 mtr wide, the diameter of the inner circle is?

& JeaR 99 F aed 3 ofad o &1 Iqgure 23 : 22 . IRy g 5 aex
dtst & A 3w goa wT caw T R 7

(@) 55mtr /A@ 110 mtr (c) 220 mtr (d) 230 mtr

Q70. The product of the lengths of the diagonals of a square is 50 square units.
What is the length of a side of the square?

ﬂm&%ﬂﬂﬁiﬁﬂﬁ.ﬁﬁg‘moﬂwﬁww.m&%qﬁmﬂﬁ
araré fras 2
(a) 52 units @v\ 5 units (c) 10 units (d)  2V5 units

Q71. From a cylindrical log whose height is equal to its diameter, the greatest
possible sphere has been taken out. What is the fraction of the original log which is
cut away?

TH Jd4 HHR ahd) M Fa¢ 389F A9 § el ¢, 39 G 937 67T
e A AT IR ¥ AT a6 FT a§ fraen I Fr ¥ O Fe @

14
@ 12 () 1/3 ) 1/4 (@ 23

Q72. The diagonal of a cube is 43 cm. What is its volume?

TF " FT AROT 4V3 QAT }. FHAT AT FAT 87
(@) 16cucm ' (b) 32cucm (c)64 cucm (d) 192 cucm

-~

Q73. If Hjm size of a cube is increased by 100%, then by what percentage is the
surface area of the cube increased?

uﬂaﬂmﬂﬁ%ﬂ&é?ﬁﬂﬂﬂ%w.ﬂmﬂ%ﬂﬂd&uﬂﬂnwﬂ»

wfaera #r gfy eef? |
()  150% (b)  200% (€)  300% (@ 400%

Q74. What is the least number of straight lines for a bounded plane figure?
v qRag GAGT HPfa & AT T JWIH A FqATH FEqT F4 2
@ 1 ® 2 (© 3 (@ 4



hich are parallel. The maximum

Q75. There are five lines in a plane, no two of w
number of points in which they intersect is?

aﬂﬂﬂmﬂ&ﬂdwﬂawﬂmﬂ@ﬂd%&%ﬂmw.»@ﬂ_uﬁd_mﬂﬂa, \\

AT FA ¥ 3T arftwasr wear w87 e
@ 4 () 6 (c) 10 (d)  None of the above w5 ofr a1l /
-

_Q76. A number, when divided by 987, gives a remainder 59. When the same
<" number is divided by 21 what is the remainder?

aﬂﬂgﬂomu@%uﬂ»ﬂ%%ﬂﬂﬂﬂﬂﬂﬂﬂuﬂ:ﬂmﬁwﬁ
x 18T = M S

Renfae Far smar & ar aw wear #ar 2 N
9 17 (d) 15 g T
(@ 21 () 1 Lo~ (d) e
B
Q77. If a positive integer leaves remainder 28 when divided by 143, then what is
the remainder obtained on dividing the same number by 13?
A TF gAIHF quiis AW 28 SsAT ¥ 143 @ RefT FE W, @ A FE&AT B
13 @ fnfora #3s @ Awwa 47 ureq e ? ’
(@ o- (b 2 ) 9 (d) 10
~\me. (NP1 — 1) is a multiple of p, if N is prime to p and p is a?
R (N™"'— 1) ,p &1 aporer &, 3k N ,p #T 3mer & @ p T &2 %\N%v
;) -
(a)  Prime number AT dE&AT %%MO%M\Q
0 ’
(b)  Rational number 9RAT FEAT g° <o
LS Co
. W -
()  Real number arEdfas dEar Lxre S %
v ~
. . %= -
(d) Composite number HIFd HEIT & v % - Qe .
L w Y’ d whymxmw
(13 \acs &\

Q79. LCM of two numbers is 16 times their HCF. The sum of LCM and HCF is 850
If one number is 50, then what is the other number?

&Y §EIR™Y FT LCM 351% HCF =7 16 3T & .LCM 3ilx HCF &1 39T 850 §. afX o+
HEAT 50 §, aY gEd wear wur ¥ 2
g 800 (b) 1200 (¢) 2400 (d) 1600



80. The HCF of two numbers is 98 and their LCM is 2352. The sum of the
numbers may be?

2 TEATEY &1 HCF 98 ¥, 3l 3=t@t LCM 2352 §. Y 3T €&AMAY &1 oyt Fa7 §7

(@) 1372 (b) 1398 (c) 1426 (d) 1484
+3
Lo
Q81. How many numbers between 500 and 1000 are divisible by 137 ﬁ |
1o
500 31X 1000 F dfrar frae weare 13 @ Rsmera §2 \Mb\www (o
(@) 36 (b) 37 (c) 38 (d)- 39 i 3a
Q82. Which one of the following is a non-terminating and repeating decimal? 19
ffaf@a ¥ ¥ Fi9 a1 vF rwia 3 smadf g §7 3%
44
(@ 13 (b) 3 c)- 3 (d) 137 :
8 16 & 3 25
5 3
Q83. Which among the following is the largest? 0-272
PEafaf@a & 4 sl g9 931 87
@ 7 ) 11 ¢ 3 (d) 10
9 — 1 4 13

.Q84. What is the square root of 9 + 2V14?

@+m¢3ﬁﬂﬂ,ﬂﬁ4%ﬂ?

(@ 1+2\2 (b) ~3++6 (c) N2+7 (d) 2++5

Q85. What is the smallest number that must be added to 1780 to make it perfect

square?
ﬁﬁﬂ%ﬂdﬁgw@ﬂﬂﬁm&ﬂﬂwgimo&%a%
(@ 39 (b) 49 - (e) 59 (d) 69

Q86. If salary of X is 20% more than salary of Y, then by how much percentage is
salary of Y less than X?

afr X 7 age Y F daT A 20% eliE ¥ A Y A X § e wfaea FH
L34

o

b (c) 50 (d) 65
(@) 25 (b) 20 A L



e X So [ ThoeUe

12° .
Q87. A student has to secure 40% of marks to pass an exam. He gets only 45
marks and fails by 5 marks. The maximum marks are? |
TH BT FT G g FIS F AT 40% 3iF GIod FT @IS ¢ a@ had 45 I’F
ared mﬂﬂﬂ.%mwﬂ&@i&ﬂﬂw.ﬂw@mﬂﬂ&ﬂiwv

(a) 120 (b 125 (c) 130 (d)y 150

. : io 49 : 68,
Q88. What is the number which has to be added to each term of the ratio wike %

so that it becomes 3 : 4 ? \W\«; _ \S
, SO
mﬂﬂﬂ%ﬂdﬂwﬂd%”mm#w&qﬂ&aﬂﬂﬂ&%ﬂﬂgw.m@% ‘ u\o_\_.owvb
3:48 IA? {abt = A
(a) 3 (b) 5 (c) 8 (d) 9 SLZ- g
Q89. The sum of the age of a father and the age of a son is 75 years. If the product JD\PM VW% £
of their ages before 5 years was 750, then what is the present age of the father? - vﬁ% 9 20
P -5) =
aﬂmﬂmﬂﬁ%mﬂﬁﬁﬁﬁﬂaﬂﬂuﬂmi@iﬁ%ﬂﬁ% Qmm\mbuﬂ%o
TG 750 A1, A Rar #1 aFAET 3 F4AT §2 Gml,m\v o5 EoC
- , d
(a) 60 (b) 55 ) 52 d 50 Wo \mv@
T
s
Q90. The fourth proportional to 7, 11, 14 is . S.o%,v\m ol
7,11, 14 &1 T FATTITA FAT 82
(a) 16 (b) 18 (c) 20 (d) 22 Q
e
Q91. The average weight of a class of 15 boys and 10 girls is 38.4 kg. If the TS
average weight of the boys is 40 kg, then what is the average weight of the girls? =7
15 @5%l 3R 10 T3fFal #r v Faw F1 AT awer 38.4 Fer TRy . wH T
&ﬂﬂmﬁﬂ%@lﬂ&ﬂﬂmﬁﬁ?mﬂﬂ@ﬂﬂww
(a) 36.5 kg (b) 35 kg (c) 36 kg (d) 34.6 kg Q9
frol
Q92. In a class of 100 students, there are 70 boys whose average marks in a TF
subject are 75. If the average marks of the complete class is 72, then what is the e

average marks of the girls?

100 BTt Y FaT F 70 W ¥ e e AT F kg siw 75 L AR T FAT

¥ AT 3F 728 ot asfeat & sitwa siw 4T 82
(a) 64 (b) 65 (c) 68 (d) 74



y 13

2

<

u - %o

g 5T
. \mvw@o

Q93. The sum of a.eo numbers is 7 and the sum of their squares is 25. The product
of the two numbers is?

ar @ear T A 7§ 3 3ad et wr avr 25 & A QT dEArEt F Ok
T §7?

(a 6 () 10 (¢) 12 (d) 15

Q94. The sum which amounts to Rs 364.80 in 8 years at 3.5% simple interest per

annum is?”

3.5% aTf¥e WIYROT 1T Y g ¥ 8 aut & Rs 364.80 &1 ufdr Far N7
(@) Rs285 (b) Rs280 (c) Rs275 (d) Rs270

Q95. <<j®3 an article is sold at 20% discount, the selling price is Rs 24. What is the
selling price when the discount is 30%7?

S U EG T 20% B T A4 o7 &, A AT Hed Rs 24 ¥ 9 T 30% E A

v Ao 41 82

(@) Rs25 (b) Rs23 () Rs21 (d) Rs20

Q96. By giving 25% discount a trader earns 25% profit. If he sells the item at 10%
discount, what is the profit?

aﬂggmmﬁwnmwﬁmm.ﬁﬂﬂmmmﬁﬂw.ﬂ@.mﬂmﬁﬂﬁ;oﬁmﬂﬁ
dear &, aY amer 4T 87

(@ 10% (c) 45% (d) 50%

(b)  40%

Q97. A man buys 200 oranges for Rs 1000. How many oqm:@.mm for Rs 100 can be
sold so that his profit percentage is 25%7?

s TeH Rs 1000 & 200 W @figar & .Rs 100 &
aTRF IHFT T 25% &2
(@ 10 (b) 14 (c)

fFast @Al aT I FHA

16 (d) 20

Q98. A car is travelling at a constant rate of 45 km/h. The distance travelled by car
from 1040 AM to 1 PM is?

aﬂﬂzami\nﬁ%s@@mﬂﬂwQ?AAES/,\_@Anzmﬂﬂzm@ﬂ
fraet gt @ & T gl

(b) 150 kms (c) 120 kms (d) 105 kms

(a) 165 kms



R

Q99. A man rows downstream 32 kms and 14 kms upstream, and he takes 6 hoyg
to cover each distance. What is the speed of the current? .
T IMEH RN & I 32 feel 3R URT & fAger 14 Reaft A wamr ¥ Lan

38 9AF G F a7 A F 66 a9 § AR Ay Afy FAT X 2

@ 05km/h  (b) 1km/h (c)  1.5km/h (d) 2km/h

peed of 12 km/h and returned to his house at
minutes for the whole journey, what was the -

Q100. A boy went to his school at the S
the speed of 8 km/h. If he has taken 50
total distance walked?
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